e AR TOHATSU

4229805 FHE £ B
- E -
.
=
” T{:‘—l N
i
o S
|
m D
L e
T f tH F
7 [-=$53) HHE | RIE
SCM435| ShERTE HLEE | SKO5 | B2
- H " e
S A B C D E F G h9 J K (g) EF

BJ762-05001| 16 12 10 30 | 17 12 6 5 | M 5x08 | EB&L4 10
BJ762-06001| 19 | 15 | 12 40 | 21 16 7 6 |M6x1.0 | EBS 18
BJ762-08001| 23 | 20 | 15 50 | 21 | 20 9 8 | M 8x125]| EB7 30
BJ762-10001| 28 | 25 18 70 | 35 | 28 12 10 | M10x1.5 | CHI0 55
BJ762-12001| 34 | 30 | 21 75 | 39 | 20 14 | 12 | M12x1.75| C®i2 | 103
BJ762-16001| 42 40 26 | 90 | 41 | 40 17 16 | M16x2.0 | C=16 | 210
BJ762-20001| 52 | 50 | 32 | 110 | 5 | 50 22 | 20 | M20x2.5 | CE20 | 295

(EX. REDER] L L =
e & % | x| 20][F]
22980(=HT ) BJ762-05001
=N
N RIS
k /{\/
.OI

BJT62 [ 4P




